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1. Give very short answer : : 1x12=12

wifs 53 Teq ¢

(ar) “The premises of an inductive inference offer certainty for the truth of the

conclusion.” — Is it true ?

‘WW'WWWWWW@WWP#@?@W?

(b) Which of the the following statements is true ?

fiesre @R O ey

(i) The law of causation is a material ground of induction.

FraiEe [ targ oeee Igers ol

- (ii)) Obsecrvation and the law of causation are the formal grounds of

induction.
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(iii) Observation and experiment are the formal grounds of induction.

[ o )
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(iv) None of the above statements is true.

CAEG (F] G5 SfE@s 7] 727 |

(¢) ‘‘Observation is finding a fact and experiment is making one.”” — Who did

say this statement ?

el TaC B AR i ST Targ oA R — 4% SR G

a2

| (d) Which one of the following statement is incorrect ?
NI (FAD] Bfe Sus ?

(i) Observation is a perception with a definite purpose in view.

ﬁ%ﬁmmﬁﬁmwmm1
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(i) Observation is a perception of natural events.
el (R AIPToT A AT |

(iii) Observation is not a perception of events under natural conditions.

Rl 2igTes S TS T I JoAE O e |

(iv) In observation, the natural events are not fully under the control of the

observer.

ﬁéﬁﬁ%mﬁﬁw&%ﬁﬂa@aﬂﬂdmm%mx

(e) Which is the last stage of hypothesis suggested by Mill’s definition o

hypothesis ?

e eieas FRTE WA ST 1T wo! 6 2

(/) What is the meaning of the condition of ‘testability’ of a valid hypothesis’

451 (A ZET STFITOr 7S (B s &2
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(¢) “When heat is applied to ice, then ice melts. When heat is not applied to ice,

then ice does not melt. Therefore, heat is the cause of the melting of ice.”

Name the experimental method emp]dycd in the above argument.

“qeEFe oie] A FRE 7T SifE Y| O A AR 17T Sl | afere

SIt+E 79T S AR e |7
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(h) ““T'he possibility of the doctrine of the plurality of causes cannot frustrate the

method of agreement.”” — [s it correct ?

AR BT TORATOL S 2eETie 7w B (MR 1”7 — G200 A ?

(i)  Who among the following philosophers is not an idealist ?

wote GRS wHFETES foete RiRoRIFT SRR 721 ?

(1) Berkeley
AR
(11) G E. Moore

f&, 2, 49

(i11) Bradley

@Te
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(j) Name the philosopher associated with the statement — “Thought and Reality

are at bottom identical™.

“%@WWWW”—&S@W&%WW—@WW

T 41|

(k) What is the meaning of the Latin word ‘Religare’ ?

o SR ‘Religare’ <CHE e 52

() Mention any one similarity between Religion and Morality.

ﬁw@me@mmﬂﬁfﬂm@mﬂwl

State two points of difference between deduction and induction. 1%x2:

il ST S e 243 751 oy Srad

Define bad analogy with suitable example. 1+]

Ty Wwwm@wﬂmmﬂmﬁm
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4. Slate any two characteristics of analogy. 2

AT SR KR 767 CaEr S w5l |

5. Define material cause with an example. ' : 1+1=2

CHIZETE Gollvi Req weea gl |

6.  Briefly explain any one criticism against Mill’s paradox of induction. 2
o et Rcsiarer@ Retm R @by FEToa1 b3ee i <5 |
Or / Tz4r .

. Why Mill’s paradox of induction is said to commit the fallacy of petitio principii

or fallacy of arguing in a circle ? : 2

ﬁmwwﬁmmﬁmmmﬂﬁiﬁm@?

7. What do you mean by a working hypothesis ? , 2
TR e I 7 g
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Briefly cxplain any one condition of a valid hypothesis with the help of a suitable

example. 2

BolE TUIZSE AR (T4 AP Riceic! 951 55 B A1 1|

9.  Why do some logicians regard the method of agreement as a method of single

Y,

agrecement ?

g SR Sl AR gl gl g R e

10. Give a concrete example of joint method of agreement and difference.

R SERIoEH] 2elleTE B AwE SR WA

11, What are primary qualities 7 Give example. 1+1=

527 el Wi 62 Sargae el

12. Briefly express any two characteristics of objective idealism.

DA RIS Rierc 751 (A suee @ 9|
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Bricfly express any two points of criticism against objective idealism. 2

gD SRRV em ﬁWWﬁWWWWI

3. State any two essential characteristics of religion. 2

] Rl 751 9= @i gy Srme 41|

14. What is induction ? State fwo differences between deduction and induction.

2+2=4
SN ST QG 2 o S Siaweig iors &6 767 Al S 969 |
15. “All inferences are analogical at bottom.” — Explain the significance of.this
remark. 4
IR AP S T Sfes |7 — G2 TR iy iRyl o |
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17.

What is a condition ? Briefly explain positive and negative condition with the help

of suitable example. ‘ 1+3=4

Boae] W 57 ToATS THizeeR FRTS See 1 AL S 2lfege 1 qeedle SATRR

e o3 Qe SsienR |

What do you mean by fallacy of mal-observation ? Distinguish between individual
mal-observation and universal mal-observation with the help of suitable example.

- 1+43=4

']

a1 st (i g B qE? SoRe SrigeeR wRie IfETS arg Al el

ﬂﬁ%ﬁ“ﬁ&ﬁﬁ#@%ﬁﬁ%ﬂ@ﬁ@ﬁl
Or / 7331

Distinguish between fallacy of non-observation of essential instances and fallacy of

non-observation of essential circumstances with the help of suitable exampie. 4

@WW%WWWW‘T Wi O SRR AR SR
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19.

Distinguish between explanatory hypothesis and descriptive hypothesis. 4

ARG 25 S TS oFea Nere e Waeld o« |

What is a crucial instance ? Briefly explain a crucial instance obtained by

cxperiment with the help of a suitable example. 2+2=4

B 8IS 3 [Neifare 721% WA [ 2 TS SHIReT A2 #I915eleta 5w a1 et 7o
T 5t g1y w4 | | |

State rwo advantages and two disadvantages of the method of difference. 2+2=4
Ifo=F weeTT 7oy FfRdt = 757 SRRy Sy 9 |
Or / 7%

State two advantages and two disadvantages of the method of residues. 2+2=4

AT 2emeTE 757 ARA S 757 SR S 54 |

What do you mean by naive realism ? State any two differences between naive

realism and scientific realism. 2+2=4

191 A T R gl 2 St T S (T AT Aers <<l Al 75
ALy G 1 |
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Or / 7331

What do you mean by naive realism ? Briefly express any two points of criticism

against this type of realism. _ 2--2=4

e AT IR [ el 2 GRS I [T Rz 75) Ao AL e

<4 |

Briefly express any four characteristics of naive realism. -+

R G Rizsizen bIf<G) (AME) o3 o 41 |

Or / 723

Briefly express any four characteristics of scientific realism. 4

e <A A B RS ST e e

What is habitual action ? Why is this type of action regarded as object of moral

judgement ? 2+2=4

ey s ST e % e e o o e R fRotiet R =41
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24.

Define the method of agreement in your own words and give a concrete example
of this mcthod where we proceed from effect to cause. Why is this method called

pre-eminently a method of observation ? 24+2+2=6

 (OIE e ST SEE 2R SIS Tl S O3 Ao G A6t AW Srizad fra

QWWWWW%@WE@ILﬂ?ﬁﬂﬁ@ﬁﬁmwzﬁaﬁﬁﬁﬁmiﬂ?
Or / 723!

Define the method of residues in your own words. Why do some logicians regard

this method as a method of deduction ? Explain. - 2+4=6

ONE Few SR ARR edrT Aces | fSgin SFEem @2 e 5

ﬁmr\wq%%mwmﬂmmn

What is Berkeley’s subjective idealism ? On what grounds Berkeley has said that

primary and secondary qualities are inseparable ? 2+4=6

Qe SY wikam e I © gfee 05 S el ety wifen g (wee?
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Critically discuss objective idealism of Hegel. 6

@EER FEED OIS TG I SReoi |

26. Briefly discuss any three of the different elements involved in the mental stage of

voluntary actions. 2%3=6

Sftes Tl RO ST o491 [T SAMFITER R [SHtR RaTa 53 SicEal

SSECGEI |
Or / 733

What do you mean by non-moral actions ? Briefly explain any five non-moral

actions. - 1+5=6

st fama I 6 qute e o) Sitafes iR b At Siseoi |
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27. Critically explain any one of the follbwing views : 6x1=6

Reare Soorgze »f[1 Rl Gbie {E TREsanEE 0 SR 2

(1) Religion is the source of morality.

9% (25 Wfewwr B |

(ii) Morality is the source of religion.

(AfeTel (g 45[F B |

(iif) Religion and morality are independent of each other.

{3 SN (oS! oTT oo |
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